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AKEEMBIE
KEFREMHET
KEEMJ[ET BS5A V)
EBRII (REHRE)

[SERBELT (—R) ]
5 hR 1) As #3% | 200.0] m 199. 80
FEIRE EEAIE As 10emLLT | #% 56.0| m2 56. 25
(FEHT]
As3EIE iR 4t L=3.3km | #&35 3.0| m3 2.99
AsEEH AL IRE B 7.0| t 7.02
(1]
N yEiERITEIA £ %) 53.0] m3 52. 87
RETBRE 4t L=4. 4km | #35 63.0| m3 63. 44
BrONE B 63.0| m3 63.44
ERERE %] 56.0| m3 56. 25
BAL 1) # 75.0| m3 | 56.25 (& ERIEE)*1.2/0.9=75.0
(#ET (REIR) )
TE®RET ARC-40 =150 HyHt | 56.0| m2 56. 25
LE®RET M-40 =120 #yHt | 56.0| m2 56. 25
&% QAR EAs =30 W54t | 56.0( m2 56. 25
[EMRIELT (ZR) ]
55 hR ) As #% | 105.0] m 105.10
SRR E R HITE As 10cmBATF | #3% | 130.0| m2 127.32
(FEHT]
AsHRIE 1 4t L=3.3km | &35 50| m3 5.22
AsBE#f AL 38 £ 13.0] t 13.44
(8% T (REIRT) ]
RERIE s | 127.0| m2 127.32
RET @FHifEAs =50 HH | 127.0| m2 127.32




BE - T -3 s B =Tl iﬁmfffgm — ;%;Qr;ﬁ
KEEHFHTE
KEXERET
KEEHERT (ASA>)
(E#E]
HPPE®& #50 # 82.0| m
WEF-$ ®50 # 17.0| &
WEF-45B ®50 # 2.0| 1@
WEF-C ®50 # 1.0 @&
PEIE 50 # 1.0 1@
B FERET 50 I 1.0 #
[(%E]
HPPEE fHER T ®50 % 82.0| m
T YIFLVEMFT @50 BtE20 - X7 17.0| & FT| WEF-S
T YIFLVEMFTLT @50 AR k7 5.0 O | WEF-45B 4.0 WEFC 1.0
tYIFLVEMFT ¢50 ) - k7 1.0 O | peig




%E - T8 - 15 s B9 T RRBE ;;Qr;ﬁ
KEEHRBIE
KEXEHHT
KEEHBLT (ASA>)

TEEL - AEL

|€5F=8: 350!
PEEEL Q750 B8 @15 2l 1.0
IS5 VOMFET 015 57 1.0 O | EF-F 1.0
HPPEE @75 £ 1.5 m
HPPEE ¢ 50 2l 2.5 m
WEF-45B ¢ 50 # 2.0| @&
WEF-R @ 75450 # 1.0[ @
PV-J ¢ 50 # 1.0[ @&
AN=HIBFTI ¢50 VP 57 1.0l @ | Pv-J 1.0
FYIFLE#RF T $50 rh=hl %7 1.0 A | PV-J 1.0
HPPE& % 5% T @75 FH 1.5[ m
HPPE& #i 5% T ¢ 50 FH 2.5 m
FIIFLVEMFT o675 AhE20 57 1.0| & AT
TUIFLVE#FTL ¢50 REIO i %2) 5. 0| B FT| WEF-45B 2.0%2.0 + WEF-R1.0
B i T & 75%50 FH 1. 0| Fr| DCIPL
PWP ¢ 50 # 5.0/ m
KMP-S ¢ 50 # 1.0[ @&
FYIFLVFER T $50 %7 5.0 m [ Pwp
FYIFLEBRF T 50 rhzhl W5 1.0] B | KMP-S
15 E Lk ¢ 50 - %7) 1.0l &
IS5 VOMFET 015 e 5 1.0l O

[BEE%FAZE)
BAZE+yy7 ¢ 50 EER 2l 1.0| @ | WHHLED=&
PWPE £ i ¢ 50 - %7) 1.0
B EE ®50 PWP g5 5.0/ m




BE - I -5 % B9 ] RRBE_— ;;Qr; p
AKEEGRIE
KEFREMHET
AKEEHET (ASA>)
EBtT (FER)
[SERBELT (—R) ]
82 R 5 B As %) 76.0| m 76. 00
SR E RS As 10cmBLF | #35 21.0| m2 20.90
(FEHT]
A5 E 4t L=3.3km | #&5 1.0| m3 1.05
AsEMNEE B 3.0] t 2.47
(1]
N yIROERIREA £ R %70 14.0| m3 14.21
HETERE 4t L=4.4km | #&55 17.0| m3 17.05
BIUnE B 17.0| m3 17.05
ERIERE 15 11.0| m3 10.74
BAL 1) # 14.0| m3 | 10.74(EHIBR)*1.2/0.9=14.32
(#%T (RER) ]
TE®RET ARG-40 t=150 s | 21.0| m2 20. 90
LERET M-40 =120 s | 21.0| m2 20.90
&% QAR EAs =30 At | 21.0( m2 20.90
[BEMRIELT (ZR) ]
2 R S B As %) 76.0| m 76.00
SR E ST As 10ecmBLTF | #35 44.0| m2 43.70
(FEHT]
AR E 4t L=3.3km | #&3 1.0| m3 0.60
AsgEdt e B 1.0] t 1.41
(%I (RERT) ]
RERE % 44.0| m2 43.70
REL QF#IEAs =50 e | 44.0| m2 43.70
[Ettht+T)
Rint+T W 1.0 =&
KIEY/EBRL REL ¥k 2.0] m3 | WO.5%L6. 0%HO. 75=2. 25
Ei#hCoig |8 k) 1.0] &
T ECo =& IH Co 5 3.0] m2 [ Wo.5+L6.0=3. 0m2




EHE%Et FEERE
- T7& - &5 X2 :
HE - T -7 s 7 [TuE [54] BER wE |#y
KEEGRBREIS
KEFEMBET
#HAKEVET (ASAY)
BEUET
[Exti 4 T ]
By 43 i5; T ¢ 50x ¢20 WM 6.0|&EAT| - EFYM N - KMP4=5-Yry b
[#AKE]
HBKE 20 M7 44.0| m | 43.7
[1Esk12]
ok (F) 20 I 6.0|&EAT| - BRIEKIE - 1EJKERE 99 - A-5-Yhyb
[BART])
RRE Y JK3E H # 6.0 @&
[BEERFAZET]
BRE$ry7 20 # 6.0 @&
AHAZHILEFT 620 5 6.0 O




2 A4 ~ L + T & &t =

At X % 7 s &0 (& ER) HERER BREREAZEED N E

O &-+ ®mY w50 DP=800 w75 DP=1,200 w50 DP=1,200

i £ m 97.0 m 1.9 m 1.0 m
% 3 2 R+ & By CE. H= CE. H= CE = & 3
[#EFI~REIR) [#EFI~REIR)
EESrl=n As =15 T m 2.00%97.00 194.00 | 2.00%1.90 3.80 | 2.00%1.00 2.00 199.80  |&HZEhRUIER
S hRIEHITEA As,Con t=10mpt | m2 | 0.55%97.00 53.35 | 1.00%1.90 1.90 | 1.00%1.00 1.00 56.25 |&A%EhRIEAITEA
AR HII TR A T 0.28BH | m3 | (0.970-0.05)%0.55%97.00 49.08 | (1.430-0.11)1.00%1.90 2.51 | (1.390-0.11)%1.00%1.00 1.28 52.87 |MEMIERITERA
HWRIERL LA 0.28BH | m3 (0.740%0.55—-0.000-0.004)*97.00 39.09 | (1.140%1.00-0.000-0.006)*1.90 2.15 | (1.100%1.00-0.000-0.006)*1.00 1.09 4233 |[#HIERL s
TEBRET ARC-40(RC) t=15cm  m2 | 0.55%97.00 53.35 | 1.00%1.90 1.90 | 1.00%1.00 1.00 56.25 |THERERET t=15cm
LERET M-40 t=18cm  m2 | 0.55%97.00 53.35 | 1.00%1.90 1.90 | 1.00%6.00 1.00 56.25 |FERRAET t=18cm
ETEBRET M-40 t=12cm  m2 | 0.55%97.00 53.35 | 1.00%1.90 1.90 | 1.00%1.00 1.00 56.25 |LEEREET t=12cm
RERT QA EAs t=3cm | m2 | 0.55%97.00 53.35 | 1.00%1.90 1.90 | 1.00%1.00 1.00 56.25 |{R{EIET t=3cm
1 E k- 05 418 44km | m3 | HEIHIEHEIx1.2 58.90 | HEMEIEHI*1.2 3.01 | HEMEIRAI1.2 1.54 63.44 |FELIEHR-0SH  4.4km
AsTE 4R 3.3km | m3 | 0.55%0.05%97.00 2.67 | 1.00%0.11%1.90 0.21 | 1.00%0.11%1.00 0.1 299 |AsERERK 3.3km
AsBEM AL1E x2.35 AR |t 2.67%2.35 6.27 | 0.21%2.35 0.49 | 0.11%2.35 0.26 702  |AsBEdfALER
[##&8] (1]
EHLE R U As t=15mp T m 97+2.00%1.15 99.30 | 2.00%1.90 3.80 | 2.00%1.00 2.00 105.10  |&H%ERR UIER
SRR HITEA As,Con e=tompt T m2 | (0.55+0.60)%97.00 111.55 | (1.00+1.86)*1.90 5.43 | (1.00+4.440)%1.90 10.34 127.32  |&HEEhRIEHITEA
TEEIE WML m2 | (0.55+0.60)%97.00 111.55 | (1.00+1.86)*1.90 5.43 | (1.00+4.440)*1.90 10.34 127.32 | REEE
RET OFHEAs t=5cm = m2 | (0.55+0.60)*97.00 111.55 | (1.00+1.86)%1.90 5.43 | (1.00+4.440)%1.90 10.34 12732 |REI t=5cm
AsTRIEHK 4tE 3.3km @ m2 (0.55%0.03+0.60%0.05)%97.00 4.51 | (1.00%0.03*+1.86*0.05)*1.90 0.23 | (1.00%0.03%+4.44+0.05) %1.90 0.48 5.22 |AsFOEK 3.3km
AsEEMALER % 2.35 Astf t 4.51%2.35 11.77 | 0.23%.35 0.54 | 0.48%.35 1.13 1344 |AsEE#M LR
REREFEI(RAUFR) nEA=, EH ME15cm  m

IREXE T (AR=) nEa=, = ME30cm m

X EfRERE TR X=F 15cmitE m




2 4 + 1L + T - ) it =

A # X %9 EERYE (AsER) FERUE (AsHD) I E

o &-£ %Y w20 DP=600 w25

JE E m 38.00 m
£ 3 2 K+ & BAfL g BE g = %
[#EEl~{RE18] [HERI~{R#EIE]
SR U As t=15my T m | 2.00%38.00 76.00 76.00  |&HEERRY M
22 by R 1| FE A As,Con =10 m2 | 0.55%52.0 20.90 | 0.55%1.5 0.825|  20.90 |EAZEhRIEHITEA
AR HITEA T 0.28BH = m3 | (0.730-0.05)%0.55%38.00 14.21 1421 |HEMIBEITEIA
HmIERL 1) 028BH m3 | (0.43%0.55-0.03)*52.0 10.74 | (0.44%0.55-0.04) *1.50 0.30 1074 |HEHEREL 1)
TE®RET ARC-40(RC) t=15cm  m2 | 0.55%38.00 20.90 0.83 2090 |TRERET t=15cm
TERET M-40 t=12cm  m2 | 0.55%38.00 20.90 0.83 2090 |EERRAET t=12cm
RIEIBT Q@HIEAs t=3cm = m2 | 0.55%38.00 20.90 0.83 2090 |{R¥EIET t=3cm
T L ER - sy MEE 44km | m3 | HEHIEAI*1.2 17.05 | HEHRIEHI*1.2 17.05 |[FELEHR-05 4.5km
Asi Bk MEE 3.3km | m3 | 0.55%0.05%38.00 1.05 0.06 1.05  |AsFElk 5.7km
AsEEH AL IE x2.35 AsBE |t | 1.05%2.35 2.47 247 |AsEM IR
[R1IH] (€:XAED)
SRR U] As t=15mp T m | 2.00%38.00 76.00 76.00 |SHEERRUIET
R NRAE HI 752 As,Con t=10emt ® m2 | (0.55+0.60)*38.00 43.70 1.73 4370 |EBAEMIEHITEA
TEEIE HIEMIEL m2 | (0.55+0.60)%38.00 43.70 1.73 4370 |FEEIE
*®ET FHEAsQ t=cm | m | (0.55+0.60)*52.00 59.80 | (0.55+0.60)%2.2 1.73 59.80 |REBI (FHIEAsO. t=5cm
AsERIE 4tE 33km = m2 | (0.55%0.03+0.6%0.05)%13.00 0.60 0.60 0.60 |AsERE 3.3km
AsBE JLER x 2.35 Asii t | 0.60%2.35 1.41 1.41 141 |AsEEHMLIE
XEHFREIRAULK) nEAs =R f&15cm m
RE#REETCaa) nEast =R fE30cm m
XE#REEE TCARL) XF 15cmiRE m




BE - I -5 % B9 T i’fﬁ&"’fgﬂj = ;f;&l";ﬁ
AKEEMBIE
KEFREMHET
KEEHMB[ET ASAV)
EBRII (REHRE)

[SERBELT (—R) ]
5 hR 1) As % | 170.0] m 168. 00
SERRE R HITE As 10emBAT | #3 46.0| m2 46.10
(FEHT]
As3EIE iR 4t L=3.3km | #&35 3.0| m3 2.48
AsEEH AL IRE B 6.0| t 5.83
(1]
N yEiERITEIA £ %) 44.0] m3 44.09
RETBRE 4t L=4. 4km | #35 53.0| m3 52.91
BrONE B 53.0| m3 52. 91
ERERE %] 35.0| m3 35.27
BAL 1) # 47.0| m3 | 35.27 (EHRIEE)*1.2/0.9=47. 02
(#ET (REIR) )
TE®RET ARC-40 =150 Wyt | 47.0| m2 47.10
LE®RET M-40 =120 Wyt | 47.0| m2 47.10
&% QAR EAs =30 WAt | 47.0) m2 47.10
[EMRIELT (ZR) ]
55 hR ) As #% | 170.0] m 170.30
SRR E R HITE As 10cmBATF | #3% | 102.0| m2 102.30
(FEHT]
AsHRIE 1 4t L=3.3km | &35 4.0| m3 4.14
AsBE#f AL 38 £ 13.0] t 12.55
(8% T (REIRT) ]
RERIE w3 | 102.0| m2 102.30
RET @FHifEAs =50 HsH | 1020 m2 102.30




#E - T8 - 185 1w TR RRBE ;;Qr;ﬁ
KEEHBTS
KEXEHHT
KEEHBLT BSA>)
EhRT
(E#E]
HPPE & ¢ 50 # 97.0| m
WEF-S $50 # 20.0| &
WEF-C ¢ 50 # 1.0[ @&
PEIE 50 2l 1.0 @&
EHFHET ®50 [ 2707 1.0] &
(3%E]
HPPE® #i 5% T ¢ 50 o) 97.0| m
T UIFLVERFT @50 AhE20 i %7) 20.0| E6Fr| WEF-S
TYIFLVEBFT ¢50 &1 %70 1.0] O | WEF-C
FHZAVRF T ®50 i ¥7) 1.0 @




#E - T8 - 85 1w TR RRBE_— ;;Qr;ﬁ
KEEHBTS
KEXEHHT
KEEHBLT BSA>)

(2 )
PEfE LOf750y 8% @50 M 1.0 &
750y MFELT ®50 i ¥7) 1.0 O | WEF-F (3%
IV MFT 50 BE %70 1.0 O | WEF-F (%)
WEF-T ¢ 50 # 1.0[ @&
WEF-S ¢ 50 # 2.0| @&
WEF-45B #50 # 2.0| @
HPPE& #50 # 5.0/ m
PV-J ¢ 50 # 1.0[ @&
BEEEEYN 050 - %7) 2.0|#Ar
T YIFLVEME T ¢50 %70 5.0 m
TYIFLVEBFT ¢50 mhE20 %70 2.0| B AT WEF-S
TYIFLVEBFT ¢50 mEID %70 6.0 O | WEF-T 2.0 + WEF-45B 4.0
FYIFLVEBRF T $50 *hzhl W5 1.0 O | Pv-J
MHIVEF T ®50 5 1.0 O | Pv-J

(BfE%FAZE])
A4 RXF 7 #50 %7 1.0|BAr
PEIE 50 21 1.0 @&
VR F T @50 %70 1.0| &
FUTFLV BT @50 %7 1. 0| &R




BE - I -5 % B9 ] RRBE_— ;;Qr; p
AKEEGRIE
KEFREMHET
AKEEHEET BS54A )
ERIT (RER)
[SERBELT (—R) ]
EEAl %70 26.0 m 26. 00
R E R AT As 10emLLT | #5% 8.0| m2 7.15
(FEHT]
A5 E 4t L=3.3km | #&5 0.4 m3 0.36
AsEMNEE B 0.9] t 0.85
(1]
N yIROERIREA £ R %70 5.0 m3 4.86
HETERE 4t L=4.4km | #&55 6.0| m3 5.83
HLIung B 6.0| m3 5.83
ERERE 5 3.0| m3 3.06
BAL 1123 2l 4.0{ m3 | 3.06(ERIER)*1.2/0.9=4.08
(#%T (RER) ]
TE®RET ARG-40 t=150 e 44 7.0[ m2 7.15
LERET M-40 =120 e 44 7.0 m2 7.15
&% QAR EAs =30 W54 7.0] m2 7.15
[BEMRIELT (ZR) ]
2 R S B As %) 26.0| m 26. 00
SR E ST As 10ecmBLTF | #35 15.0| m2 14.95
(FEHT]
AR E 4t L=3.3km | #&3 1.0| m3 0.60
AsBEdt AL 18 B 14| t 1. 41
(%I (RERT) ]
RERE % 15.0| m2 14.95
REL QF#IEAs =50 ey | 15.0| m2 14.95
[Ettht+T)
Rint+T W 1.0 =&
REY/BREL k) 2.0] m3 | WO.5%L4. 0HO. 75=1.50

Ei#hCoig |8 k) 1.0] &
T MHCoEEIH  Co 5 2.0 m2 | Wo.5%L4.0=2.0
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4 4 +F L * I =3 &t =

A # K 9 e BB (HERR) bEdo BREXFAZEAD N F

O &-+ ®mY w50 DP=800 w75 DP=1,200 w50 DP=1,200

JE E m 82.0 m 1.0 m 1.0 m
% 3 2 R+ & By Y H= Y H=E Y = & 3
[#EFI~REIR) [#EFI~REIR)
EESrl=n As =15 T m 2.00%82.00 164.00 | 2.00%1.00 2.00 | 2.00%1.00 2.00 168.00 |&HZEkR UIER
FHLERIEHITEA As,Con =toomp | m2 | 0.55%82.00 4510 | 1.00%1.00 1.00 | 1.00%1.00 46.10  |SHEERRIEHITEIA
AR HII TR A T 0.28BH | m3 | (0.970-0.05)%0.55%82.00 41.49 | (1.430-0.11)1.00%1.00 1.32 | (1.390-0.11)%1.00%1.00 1.28 4409 |MMIERITERA
HWRIERL LA 0.28BH @ m3 (0.740%0.55-0.000-0.004)%82.00 | 33.05 | (1.140%1.00-0.000-0.006)*1.00 1.13 | (1.100%1.00-0.000-0.006)*1.00 1.09 35.27 |#HIERL [
TERET ARGC-40(RC) t=15cm  m2 | 0.55%82.00 4510 | 1.00%1.00 1.00 | 1.00%1.00 1.00 4710 |TBEBRET t=15cm
TEBRET M-40 t=12cm  m2 | 0.55%82.00 4510 | 1.00%1.00 1.00 | 1.00%1.00 1.00 4710 |LBEERET t=12cm
REIET QA EAs t=3cm | m2 | 0.55%82.00 4510 | 1.00%1.00 1.00 | 1.00%1.00 1.00 4710 |{R¥EIBT t=3cm
5% 1 E - 05 4tE 4.4km | m3 | HEWIEHEI*1.2 49.79 | AHIEAI*1.2 1.58 | HEARAEHI*1.2 1.54 52.91 |P&EEH-L5  4.4km
AsTRE i ME 33km | m3 | 0.55%0.05%82.00 2.26 | 1.00%0.11%1.00 0.11 | 1.00%0.11%1.00 0.11 248  |AsERiEHE 3.3km
AsBErt 018 X 2.35 AsH |t 2.26%2.35 5.31 | 0.11%2.35 0.26 | 0.11%2.35 0.26 5.83 |AsEEMALER
[##IB] [##1H]
eIl As =15emd T m 2.0%82.0+2.0%1.15 166.30 | 2.00%1.00 2.00 | 2.00%1.00 2.00 170.30  |&HZERR I
THEEMRIEHITEA As,Con etompt T m2 | (0.55+0.60)*82.00 94.30 | (1.00+2.20)*1.00 3.20 | (1.00+3.80)#*1.00 4.80 102.30  |SHEEARIBHITEA
TREEIE WML m2 | (0.55+0.60)%82.00 94.30 | (1.00+2.20)*1.00 3.20 | (1.00+3.80)#*1.00 4.80 102.30 | RREEIE
RET QFHIEAs t=5cm = m2 | (0.55+0.60)*82.00 94.30 | (1.00+2.20)%1.00 3.20 | (1.00+3.80)%1.00 4.80 10230 |RET t=5cm
As7E 4R 3.3km | m2 | (0.55%0.03+0.60+0.05)%82.00 3.81 | (1.00%0.03%+2.20%0.05)*1.00 0.14 | (1.00%0.03%+3.20%0.05)*1.00 0.19 414 |AsFREHE 3.3km
AsEEMALER x2.35 Astfi t 3.81%2.35 11.77 | 0.14%2.35 0.33 | 0.19%2.35 0.45 1255 |AsEE#ALIE
REHRFET(RA ) InEA=, EH ME15cm  m
RE#RRE TGERT) InEa=, = ME30cm m
REHRERE T (AR XF 15cmiE m




2 4 kL T T - Ei =

A # X % FERUE (AsEh) N E

0 &-£ ®Y w20 DP=600

E K m 13.00 m
£ a3 iz K & B 3 = IVEE £ L
[1EHI~{REIH] ({2~ {REIE]
R R U] B As t=15melF| m | 2.00%13.00 26.00 26.00 |#HEERREIER
THENRIEHITRA As,Con t=10emelF| m2 | 0.55%13.00 7.15 715 |EHEARIEEIFEA
FEMIREIFEIA T 0.28BH | m3 | (0.730-0.05)*0.55%13.00 4.86 486 |#ERIEHITEA
HBIERL i 0.28BH | m3 | (0.430%0.55-0.000-0.001)%13.00 3.06 306 |[#EWIERL i
TRERET ARC-40(RC) t=15cm| m2 | 0.55%13.00 7.15 715 | FRERET t=15cm
TRERET M-40 t=12cm| m2 | 0.55%13.00 7.15 715 | FREEET t=12cm
REIBT QBHIEAs t=3cm | m2 | 0.55%13.00 7.15 715 |{R#EIET t=3cm
7% 1 &R - 05 ME 4.4km | m3 | HEHIEAI*1.2 5.83 5.83 |ELElk-0n 4.5km
AsaXiE ik 4tE 3.3km | m3 | 0.55%0.05%13.00 0.36 0.36 |AsFREME 5.7km
AsBE#t nIE x 2.35 Asii t | 0.36%2.35 0.85 0.85 |AsEEHALIE
[R#I8] [R#EI8]
AR U] B As t=15melF| m | 2.00%13.00 26.00 26.00 |EHERRYIMT
TR HITRA As,Con t=10melF| m2 | (0.55+0.60)*13.00 14.95 14.95 |EHEERRIEHIFEA
TEEIE HRMAL m2 | (0.55+0.60)%13.00 14.95 1495 |FREEEIE
=ET ZHIEASO t=5cm | m | (0.55+0.60)*13.00 14.95 1495 |REI (FEHEAsWD t=5cm
AsFRE K 4tE 3.3km | m2 | (0.55%0.03+0.6%0.05)*13.00 0.60 0.60 |AsFREME 3.3km
AsBE#t 0IE X 2.35 Asii t | 0.60%2.35 1.41 141 |AsEEAM IR
RERFRET(RI1UERK) MnEL=C =R fE15cm| m
XEHRFZEICERR) nzEA= EHR M@30cm| m
XERFZEICERR) XF 15cmitE | m




%E - T8 - 15 s BT RRBE_— ;;ar;ﬁ
KEEHRBIE
fRE&T (AB3tiE)
ZEEET
XBEFEES ;) 32.0| AB| AS4> 15.0 + BS54 > 17.0 =32.0
FEREE
HEHE
HiET
LR U] B As 5 4.0[ m | 2.0%2=4.0
SEREEIRAITE As 55 4.0] m2 | 2.0%2=4.0
AsTRE 4t L=3. 3km %70 0.2] m3 | 0.1x2=0.2
AsBEt AIE & B 0.5| t [ 0.24%2=0.48
Ny R4 B A i %7) 5.0| m3 | 2.64%2=5.28
R4 TERE 4t L=4. 4km %70 6.0[ m3 | 3.17x2=6.34
Biwng B 6.0] m3 | 3.17%2=6.34
EWERE AL WM 5.0 m3 | 2.24x2=4.48
TRERET ARC-40 t=150 55 ¥ 4.0[ m3 | 2.0x2=4.0
LTRERET M-40 t=120 L %7k 4.0| m3 | 2.0%2=4.0
S QHHEAs =30 5 # 4.0 m2 | 2.0%2=4.0
BREEE
KEGERT HWS# | 0.20] B | 0.082+0.097=0.179




2 4 kL T T - Ei =

A # K % HIED N

0 #&-£ %Y w100 DP=1,200

= = m 1.0 m
£ a3 iz K & B g1 = £ L
[1EHI~{REIH] ({2~ {REIE]
S AR U As =15 T m | 2.00%1.00 2.00 2.00 |EHEERRYIER
THENRIEHITRA As,Con t=10emelF| m2 | 2.00%1.00 2.00 2.00 |EHZEARIEHIFEA
FEMIREIFEIA T 0.28BH | m3 | (1.430-0.05)%2.00%1.00 2.76 276 |HIEAITEA
HEMERL gy 0.28BH | m3 | (1.120%2.00-0.000-0.013)*1.00 2.23 223 |[HEWIERL gy
TERET ARC-40(RC) t=15cm| m2 | 2.00%1.00 2.00 200 |TREHRET t=15cm
TRERET M-40 t=18cm| m2 | 2.00%1.00 2.00 200 |EERBET t=18cm
ITERET M-40 t=12cm| m2 | 2.00%1.00 2.00 200 |EBHRBET t=12cm
REIET QHIEAs t=3cm | m2 | 2.00%1.00 2.00 200 |[IREIET t=3cm
7% L& R - 0 H ME 4.4km | m3 | #EWIERI*1.2 3.31 331 |FEHLEHR-AS  4.4km
AsaXiE ik 4tE 3.3km | m3 | 2.00%0.05%1.00 0.10 010 [AsFREHE 3.3km
AsBE#t 0IE x 2.35 Asii t | 0.10%2.35 0.24 024 |AsEEHALIE
RERFRET(RI1UFRK) MnEL=C =R f@15cm| m
XEHRFZEICERR) nzEA EHR M@30cm| m
XEREFZEICERR) XF 15cmitE | m




2 4 kL T T =3 Ei =

A # K % HEQ N

0 #&-£ %Y w50 DP=1,200

= = m 1.0 m
£ a3 iz K & B g1 HE £ L
[1EHI~{REIH] ({2~ {REIE]
S AR U As =15 T m | 2.00%1.00 2.00 2.00 |EHEERRYIER
THENRIEHITRA As,Con t=10emelF| m2 | 2.00%1.00 2.00 2.00 |EHZEARIEHIFEA
FEMIREIFEIA T 0.28BH | m3 | (1.370-0.05)%2.00%1.00 2.64 264 |HWIEAITEA
HEWERL L 0.28BH | m3 | (1.120%2.00-0.000-0.004)%1.00 2.24 224 |HEWIERL L
TERET ARC-40(RC) t=15cm| m2 | 2.00%1.00 2.00 200 |TREHRET t=15cm
LERET M-40 t=18cm| m2 | 2.00%1.00 2.00 200 |EERBET t=18cm
ITERET M-40 t=12cm| m2 | 2.00%1.00 2.00 200 |EBHRBET t=12cm
REIET QHIEAs t=3cm | m2 | 2.00%1.00 2.00 200 |[IREIET t=3cm
7% L& R - 0 H ME 4.4km | m3 | #EWIERI*1.2 3.17 317  |FEHRLEHR-AS  4.4km
AsaXiE ik 4tE 3.3km | m3 | 2.00%0.05%1.00 0.10 010 [AsFREHE 3.3km
AsBE#t 0IE x 2.35 Asii t | 0.10%2.35 0.24 024 |AsEEHALIE
RERFRET(RI1UFRK) MnEL=C =R f@15cm| m
XEHRFZEICERR) nzEA EHR M@30cm| m
XEREFZEICERR) XF 15cmitE | m




